Bellwork Alg2  Wednesday, September 26, 2018
1. Rewrite this Quadratic Equation into Standard Form.  y = —2(x + 6)2 - 11

2. Write the equation of this 3. Write the equation of this
quadratic in Vertex Form. quadratic in Standard Form.
A
. g
PN (-2,32)
N/ \
(-5,-4)

4. A ballis shot upwards from the top of a 20 foot tall house with an initial velocity of 160 ft/sec. The
following equation models the height (ft) of the ball as a function of time (sec). A(f) = -1612 + 160t + 20

a) Find the maximum height of the ball.

b) How Ioﬁg does it take the ball to reach the maximum height?

5. The following equation models the cost (C) of producmg components for an engine as a function of the
number of workers (w) on the shift. C(w) = 3.4(w — 7)* + 4850 /o

a) Find the number of workers that should be scheduled in order to minimize the costs.

b) Find the minimum costs.
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4. A ball is shot upwards from the top of a 20 foot tall house with an initial velocity of 160 ft/sec. The
following equation models the height (ft) of the ball as a function of time (sec). A(¢) = —16> + 160z + 20
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a) Find the maximum height of the ball. | 1 | LoS: X= Zem= 5 (5 Heo)
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b) How long does it take the ball to reach the maximum height?
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5. The following equation models the cost (C) of producing components for an engine as a function of the
number of workers on the shift. C(w) = 3.4(w =7)? + 4850
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a) Find the number of workers that should be scheduled in order to minimize the costs.
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b) Find the minimum costs.
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